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Math 102 - Fall 2013 - Quiz #4 Score:

Name:

___ outofl0.

L Show all work clearly and in order.

1. Convert the following to base 10 (use the expanded form to help you).
(@) 1301gve = \ () + 3(s*)+ o(s* )+ 1 (V)
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V(24 o(23)+ 1 () + (@) + (29
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2. Convert 153;¢, to base five.
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3. Use the definition of addition to compute 2 -+ 5.
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4. Use the definition of subtraction (take-away definition) to compute 4 — 2.

et A:?Aﬁ»,c,d%
B=gaby €2 NotE: BEA
(A =y
n(gYs2

-2 = y\(k-%\ = N (iq‘b,c,dﬂ - i«;b'ﬂ =N (sl

5. Is the set {0,2,4,6,...} closed under addition?
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6. Is the set {0,1,2,3} closed under addition?
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